C:# Conversione di pesi americani misti Nome:

Risolvi ogni problema.

1) 6tonsand2 Libbre= Libbre
2) 2Libbreandloncia=_ once
3) 6tonsand 3 Libbre= Libbre
4) 8Libbreand 4 once= once
5) 3tonsand 6 Libbre= Libbre
6) 9 Libbreand 9 once= once
7) 1tonand5 Libbre= Libbre
8) 10 Libbreand 9 once= once
9) 2tonsand5 Libbre= Libbre
10) 7 Libbreand 2 once = once
11) 10tonsand5 Libbre= Libbre
12) 7 Libbreand 8 once= once

Risposte

10.

11

12.

i 1-10
[M atematl Ca] www.CommonCoreShests.it 1 11-12

92

83

75|67 [58[50( 4233|2517 |




ﬂh Conversione di pesi americani misti Nome:

Risolvi ogni problema.

Soluzioni
Risposte
1) 6tonsand2Libbre= 12.002 Libbre
— 1 12.002
2. 33
2) 2Libbreandloncia= 33 once
3 12.003
3) 6tonsand3Libbre= 12.003 Libbre 4 132
5. 6.006
4) 8Libbreand4once= 132 once
— 6. 153
7 2.005
5) 3tonsand 6 Libbre= 6.006 Libbre
8 169
6) 9Libbreand9once= 153 once 9 4.005
10, 114
7) 1tonand5Libbre= 2.005 Libbre
— 11 20.005
12 120

8) 10Libbreand9once= 169 once

9) 2tonsand5Libbre= 4.005 Libbre

10) 7Libbreand2once= 114 once

11) 10tonsand5Libbre= 20.005 Libbre

12) 7Libbreand8once= 120 once
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